

Republic of the Philippines DEPARTMENT OF THE INTERIOR AND LOCAL GOVERNMENT

REGIONAL OFFICE 1 Aguila Road, Sevilla, City of San Fernando, La Union

MODE OF PROCUREMENT:	SMALL VALUE PROCUREMENT	RFQ No.: 2025-03- 027
Name of Procuring Entity:	DILG RO1	Date: 3-14-2(
Office/End User:	LGCDD	
Company Name (TO BE FILLED OUT BY SUPPLIER):		
Address (TO BE FILLED OUT BY SUPPLIER)		
*PhilGEPS Registration No. (TO BE FILLED OUT BY SUPP	PLIER)	
Please quote your lowest price	for the requirements listed hereunder	subject to the Terms and Conditions stated below and submit to this office duly signed:
		TERMS AND CONDITIONS:
Bidders shall provide correct a	nd accurate information required in this	6. Any interlineations, erasures, or overwriting shall be valid only if they are signed or initialed by the supplier or its authorized

Bidders shall provide correct and accurate information required in this form.

One of the correct and accurate information required in this form.

One of the correct and accurate information required in this correct and accurate information required in the correct and accurate information required in t

- 2. Bidders may quote for any or all items.
- 3. Price quotation(s) to be denominated in Philippine Peso shall include all taxes duties and/or levies payable.

 4. Quotations exceeding the Approved Budget for the Contract (ABC) shall be
- rejected.

 5. Award of contract shall be made to the lowest quotation (for goods) or the highest rated offer (for consulting services) which complies with the minimum technical specifiactions and other terms and conditions stated herein.
- The DILG shall have the right to inspect and/or to test the goods to confirm their conformity to the technical specifications.

8. Liquidated damages equivalent to one-tenth of one percent (0.1%) of the value of the goods not delivered within the prescribed delivery period shall be imposed per day of delay. The DILG shall rescind the contract once the cumulative amount of liquidated damages reaches ten (10) percent of the amount of the contract, without prejudice to other courses of action and remedies open to it.

APPROVED BUDGET FOR THE CONTRACT (ABC):

PHP 130,000.00

RHODORA G. SORIANO

PHP 130,000.00		BAC Chairperson X							
TEM	I EN DESCRIPTION	QTY.	VINITE	APPROVED BUDGET FOR THE CONTRACT (ABC)		STATEMENT OF	PRICE OFFER FROM SUPPLIER/ SERVICE PROVIDER		
NO.			UNIT	ABC PER ITEM	TOTAL ABC	COMPLIANCE	OFFER PER ITEM	TOTAL OFFER	
1	Double Burner Gas stove - removable trivet and drip pan - Stainless Top and Front - Double Detachable top burner - 56cmx38cmx12.5cm	I	рс	2,500.00	2,500.00				
2	Gas Tank - Complete Set(w/ regulator and Hose) - 11 Kg Tank - Lpg regulator w/gauge and LPG Hose (Metal)1.5mt - 1 set	1	рс	3,500.00	3,500.00				
3	Emergency Light Twin Head - 2 Head (17 Hours, 24pcs Bright LED) - 220-240v AC 50/60Hz - 6V 4.5Ah Sealed Lead Acid Battery - 20.24 Hours Charge Time - <0.1 Second Response Time - Dimensions: 31 x 812x 31.5cm	6	рс	1,100.00	6,600.00				
4	16" Rechargeable Stand Fan - Energy saved with this 16" rechargeable stand fan - Model: ECOFAN SF16 - Super bright-night light function (12 powerful SMD) - Banana blade design (5 blades)- more powerful and energy efficient vs normal blade design - Overcharge and over-discharge protection - AC/DC operated full charge indication (charging time: 10-12 hours) - 3 speed control - Battery: 6V, 4.5Ah sealed lead rechargeable battery	1	рс	1,800.00	1,800.00				
5	Paper Plate (100pcs)	1	set	250.00	250.00			 	
6	Paper Cups (100pcs)	1	set	250.00					
7	Wooden Spoon and Fork (100pcs)	1	set	250.00					
8	Silicone Handle Cookware 10Pcs Set Heat Resistant	1	set	900.00	900.00				
9	Non-Stick Cookware (4pcs:Kawali Wok, Frying Pan, Casserole, Saucepan)	1	set	2,300.00					
10	Ceramic Plate (10-inch, white, flat)	12	pcs	100.00					
11	Ceramic coffee mug	12	pcs	80.00					
12	Drinking Glass (9oz, Clear Glass)	12	pcs	50.00				-	
13	Stainless Steel Flatware Spoon	1	dozen	240.00					
14	Stainless Steel Flatware Fork	1 12	dozen	80.00			1		
15	Food Bowls (Ceramic, 17CMx8.5CM)	1 12	pcs	1,100.00					
16	Stainless Steel Kitchen Knife Set (9pcs)	1	set	1,100.00	1,100.00		-		
17	2 Layers Dish Drain Organizer Plate With Cover Kitchen Dish Cupboard Dish Rack Kitchen (Cabinet Type) Specifications: Color: blue Type: Clamshell size: 4 Layersr: 41*28*62.5cm Material: Plastic Load bearing: Available plates	1	рс	1,200.00	1,200.00				



Republic of the Philippines DEPARTMENT OF THE INTERIOR AND LOCAL GOVERNMENT REGIONAL OFFICE 1 Aguila Road, Sevilla, City of San Fernando, La Union

Document Code FM-QP-DILG-AS-RO-10-07 Rev. No. Eff. Date Page

Samuel of the same	Aguila	Road, Sevilla, Ci	ty of San Ferna	ndo, La Union			Date Page 01.23 2 of 4
18	AIN1 BEDSHEET Full Single Garterized Bedding Specifications: - Material: Cotton - Quality: Hotel Quality - breathable, soft, comfortable, fade-resistant, and wrinkle-free. - Set Contents: Fitted Bed Sheet, Duvet/Quilt Cover, 2 Pillowcases (Envelope Style) - Fit: Elastic garter corners for an easy fit on mattresses up to 8 inches deep. - Thread Count: 400, providing durability for daily use and regular laundry. - Weight: 200 GSM - a balance of softness and crispness for breathable comfort. - Variety: Available in King, Queen, Double, and Single sizes, with different colors for men, women, kids, and adults. - Additional Options: Duvet filler and extra pillowcases available for purchase.	4	set	1,200.00	4,800.00		
19	Foldable Table Specifications: 180cm High-density Polyethylene (HDPE) Plastic Frame, Powder Coated Metal Frame	1	рс	3,000.00	3,000.00		
20	Bathroom Tissue/ Toilet Paper 48 Rolls - 2 PLY - Individual pack Per Piece Size: 11 * 8 Cm SKIN FRIENDLY AND NON IRRITATING Will not tear easily when it get wet Extra soft and Mild	1	pack	550.00	550.00		
21	Wet Wipes (80sheets per pack, Hypoallergenic, Non-Alcohol) Number of packages: 1 package/80Sheets Size: 180X140mm Raw material composition: non-woven fabric	20	pack	200.00	4,000.00		
22	Dishwashing Liquid (Kalamansi/Lemon, Antibac Hygiene Fresh, 240ml)	4	bottles	110.00	440.00		
23	Liquid Hand Soap (Anti-Bacterial, 225mL)	12	bottles	150.00	1,800.00		
24	Scrub Sponge (100mm x 70mm, Green)	6	pcs	50.00	300.00		
25	Refrigerator Specifications: Size: 6 cu.ft. Warranty Duration: 12 Months Warranty Type: Supplier Warranty Motor Type: Inverter Motor Refrigerator Type: Two-Door Cooling System Type: No Frost Refrigerator Features: Adjustable Shelves Volume Capacity: 203L Input Voltage: 220V Power Consumption: 1800W	1	unit	13,000.00	13,000.00		
26	Microwave Oven Specifications: 20 Liter Capacity Digital Control Modern and Elegant design 9 Automatic Menu Smart Wave System Defrost function Color: Silver Dimensions: (h:w:d) 25.9:44:35.9 cm	1	unit	3,500.00	3,500.00		
27	Electric Oven Toaster Specifications: 9L Input Voltage: 220V Power Consumption: 650W Dimension (L x W x H): 364x232x195	1	unit	1,200.00	1,200.00		
28	Stainless Steel Can Opener	1	рс	350.00	350.00		
29	Instant Coffee 3in1 (12 pcs/pack)	10	packs	480.00	4,800.00	-	
30	Instant Drink Mix - Powdered Juice 19g (Set of 24) Powdered Chocomalt Milk Drink	1	packs	590.00	590.00		
31	(24g, 12 pcs/pack)	10	packs	160.00	1,600.00		
32	Plain Crackers Handy Pack (25g x 24's)	20	packs	200.00	4,000.00		



Republic of the Philippines DEPARTMENT OF THE INTERIOR AND LOCAL GOVERNMENT REGIONAL OFFICE 1 Aguila Road, Sevilla, City of San Fernando, La Union

Same of	Aguila Road, Sevilla, City of San Fernando, La Union						Rev. No. Eff. Date Page 01 06.01.23 3 of 4			
33	Assorted Candies	10	packs	78.00	780.00					
34	Peanut Butter filling Cracker (30g Pack of 10)	10	packs	90.00	900.00		5			
35	Cup Noodles (Seafood, 60g, Expiration 2026 onwards)	48	pcs	45.00	2,160.00					
	Cup Noodles (Chicken, 60g, Expiration 2026 onwards)	48	pcs	45.00	2,160.00					
37	Cup Noodles (Chicken, 60g, Expiration 2026 onwards)	48	pcs	45.00	2,160.00					
38	Instant Oatmeal (Pack of 20, 33g, No cook formula, Expiration 2026 onwards)	1	pcs	300.00	300.00					
39	Vienna Sausage Easy Open Can(130g, 18cans, Expiration 2026 onwards)	2	box	1,200.00	2,400.00					
40	Corned Beef Easy Open Can (150g, 100% pure beef, Expiration 2026 onwards)	20	can	110.00	2,200.00	Management of the TV				
41	Rice *well milled full grain *5kgs	2	packs	300.00	600.00					
42	Garbage Bag (26x32inches, Large, Thick, 100pcs)	3	rolls	300.00	900.00	4-10-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1				
43	Garbage Bag (22x24inches, Medium, Thick, 100pcs)	2	rolls	230.00	460.00					
44	Hard Hat Safety Helmet (White, PE Shell with Vents, w/ Chinstrap, 4 point suspension, adjustable head size by ratchet knob)	4	pcs	300.00	1,200.00					
45	Storage Box (50L Capacity, Measurement: L55.5 x W39 x H34.5cm, White, Food grade material, with wheels for easy transport, Stackable)	5	pes	600.00	3,000.00					
46	Storage Box (120L Capacity, Measurement: L72 x W52 x H44cm, White, Food grade material, with wheels for easy transport, Stackable)	5	pcs	1,100.00	5,500.00					
47	Umbrella (Heavy Duty, Big, Automatic)	6	pcs	550.00	3,300.00					
48	Rain Coat (Multifunction Waterproof, Long Sleeves, with Hood, Thick Material, Unisex, durable)	10	pcs	700.00	7,000.00					
49	Rubber Boots for Rain Specifications: Length of Boots: High Boots Sizes: 40 - 1 pair 42 - 1 pair 44 - 1 pair	3	pairs	300.00	900.00					
50	Flash Light (LED, Rechargeable, Waterproof, Heavy Duty, Handheld, 5000W) Specifications: Product mode: strong light/medium light/strobe Weight: 100G Charging method: TYPE-C fast charge / USB Battery level: 50000mAh Power supply method: 18650 power lithium battery Material: high strength material	5	pcs	900.00	4,500.00					
51	5 Gang Extension Cord with USB Port Specifications: - With Individual Switch Control - With 2 USB Ports at 5V 2A - With Surge Protection - Cable Length: 4 meter - Socket type: 5 Gang Multipurpose Sockets - Maximum Load Capacity: 6A 1500 Watts - Input Voltage: 250Vac, 50/60Hz - Product Dimension: 3.5 x 7 x 36 cm	4	pcs	1,350.00	5,400.00					
52	Radio Speaker Specifications: - Rechargeable - Battery and Electric Operated - 3-band radio AM/FM/sw - AC Power:220V/50HZ,(AC power cord included) - DC:5V - with USB and TF Card ports - with microphone input - Aux in - with micro-USB to USB charging cable - HQ Sounds, Strong Signal, Wide Coverage Area, Easy To Carry,With Foldable Handle	1	unit	1,000.00	1,000.00					
53	Folding Bed with Foam Specifications: Size: 183*35*60cm Material: Metal Frame Color: Gray	3	pcs	4,200.00	12,600.00					



Republic of the Philippines RIOR AND LOCAL GOVERNMENT

Document Code

REGIONAL OFFICE 1 REV. No.								G-AS-RO-10-07 Date Page 01.23 U of 4
	Pillow Specifications: - Large 20" x 30" - Cover:100% polyester - Filling:Polyester fiber	4	pcs	450.00	1,800.00			
	Bidders shall submit their quotation together with all the required documents on or before 3 2 1 2 1 to the BAC Secretariat. The BAC not accept the quotations received after the deadline. *Please submit your Quotation for the WHOLE LOT. REQUIRED DOCUMENTS: Upon Submission of Bid/Offer: 1. Valid Business/Mayor's Permit 2. PhilGEPS Registration Number *Non-submission of the above-stated requirements shall automatically disqualify the bid/offer Purpose/Title of the Activity: ESTABLISHMENT/ MAINTENANCE OF THE DILG EOC THRU THE DISASTER PREPAREDNESS, REPONSE AND RESILIENCE PROGRAM Date of Activity: CY2025						GRAND TOTAL	
			<u> </u>	L.		<u></u>	PER LOT:	<u></u>
Warrant	у				Pr	rice Validity		
	After having carefully read and accepted your G	eneral Con	ditions, I/	WE quote on the	e item(s) at pi	rices noted above.		
						Printed	Name/Signature	/Date
Control of the Contro						Tel	. No./Cellphone No).